mPORTAN‘r : Candidates have to do
Question Nos. 31 to 90 Either from Part—II
(Mathematics and Science) Or from
Part—III (Social Studies / Social Science).

g« GauTRrE 9w FE 31 8 90 A1 Q)
am—I1 (e 3k fge) W am—I (amies
s [ i ) & w3 #)

PART—II / wmi—II
MATHEMATICS AND SCIENCE / wfoma 3iR s

Directions : Answer the
by selecting the
options.

31. Nee.ta. a Class VII mathematics teacher,
assigns a lot of survey-based projects
to  mathematics classrooms. The
purpose of such activity is :

A. to promote problem-solving skills

following questions
correct/most appropriate

B. to give an opportunity to students
to collect authentic data

C. to break the monotony of the
classroom

D. to use it as an alternate
assessment

Which of the above purposes are true?
(1) A, Band C

(2) Aand B

(3) Aand C

(4) A, Band D

32.
mathematics is defined?
(1) Point
(2) Line -

(3) Diagonal of a quadrilater
(4) Plane - =)

» Which of the followi
important aspeet in w'l;:égh‘a’?
(1) Visualization'

(2) Measurement
(3) Transposition
(4) Generalization

Which of the following ‘terms in

frdwr : Frefafas ve % 3w 3 F o ol /o
g e ghe
31. @ vl H 1@ fofE A, wfw %

m(m)mtnwﬁmmm

f.mmgamﬁ%mﬁmﬁam

B. Y fwel A THEE O W 3@
faenfefat =t wem =0 )

C. HHI-FH F THEA F W FA .

D. = srer % T wow S wem,

w R AR E

(1) A,Ba3lRC

(2 A¥rB

(3 A C

4) A, B gD

sz.in;amarﬁnm%ﬁ%hm-mamm

(D) g
- (3) v ¥ el
(4) dva

p 33. Frfflee & A A-m wee ‘Hede’ #

is not an

wewgl TE R7
(1) "l fam
(2) =

(3) waufEda
(4) =it
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34. Problem posing’ in mathematics | 34. R T e R
e (1) st A v ey A s
(1) inability to solve problems )
(2) e § TR WA FA
(3) W &l B
(4) Tomaeeg F A v = g FA

(2) raising doubts in the class

(3) solving problems
(4) creating problems from the content

A lgoodfmatl'u:matics textbook contains | 35. T H I wER-gR § A E, Tga AN -
a lot of :
(1) Tw=w 3% g W

(1) questions for exploration

35.

(2) FAH T
(3) T e ge semE
(4) iy i R s

(2) questions for practice
(3) worked out examples

(4) theorems and proofs

36. Consider the following statement : 36, e Fea T fEw i :
“Every odd natural number is a “greirey P WA e & A gen 1 3
prime number.” | |
Which of the following methods of ‘af’ ﬁﬁﬁ!ﬁﬁﬂ'm L mw .
‘proof’ can be used to prove/disprove I A ¥y /de dg R G Rl . .
the above statement? ) . ..
(1) @= fafa = 5%
(1) Method of disproof A ;
. (2) W 3T (f e
(2) Direct proof e L
(3) Proof by contrapositive - - (3? “ﬁ@ﬁmm -
(4) Proof by contradiction i . "f%)";_ Yﬁﬂﬁ T i
. i = -

37. Which of the following is mot a 31;ﬁﬁm # g & fog Fefted # QA FH-
contributing factor responsible for o IOl TE 87
mathematics anxiety? = W™ b

A s . (1) fa A vl

(1) Nature of su_b_|ect £ |
(2) Gender.m. ; % (2) fem
(3) Examination system (3) when vl
(4). Curriculum (4) T

A\ & SPACE FOR ROUGH WORK / T% #H & fag wme
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38. Which of the following numbers does | gg, fim # @ @-#1 ¥ - s B0

¢ = 7.
not lie between = and E? i 7
5 17 5 2 -7
1) 2 i, >
Mz @ —2 m g 24
-11
-3 -11 -3 4) —
3) — == 29 (
(3 p (4) 12 (3) 2 12

39. The reciprocal of[(-g-).z x(ﬁ)'s] . [(2)-2 . ( _—54_)-3] A

5 8

8\2 (5} -9 8\2 (5 2 =2
m(F) () @5 m (3) (%) @ s
(3) 125 4 - N 125 (4 2

9 125 @ 5 125

40. 11(13% -5%)%/2 =6 hen the value | 40 g (132 -52)%/2 ’6 e

of Ais : e
v uc'b

2 )

co-prime numbers, Hg-3T e &, 7@ (x—y) WA R

(x-y)is :
(1) “% (1) 8 ) 3
(3) 4 (4) 6

41. If x+/243 = yJ867, wi%&i 41, a® x4243 = yJ/867 3, & x ¥ y

(3) (4) 6
6 SPACE FOR ROUGH WORK / 1% M % fiiq wme
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42. The sum of all possible values of g, for
which the 4-digit number 547a is
divisible by 3, is :

(1) 15 (2) 7
(3 10 4) 13

43. A common factor of x? - 256,
x%-4x? +3x-12 and x2 -7x+12 is :
(1) x-3 (2) x+4
(3) x—4 (4) x+3

44, On dividing the polynomial
8x%-6x2 +10x+3 by (4x+1), the

quotient is 2x? + k, where k is equal to :
(1) -3+2x (2) 3-2x

(3) 3+2x 4) -3-2x
45. In the product of (9x2 +15-x) and

(—1—x+x2), if A, B and C are the
3 2

coefficients of x°, x and x
respectively, then the walue of
(A+B-C)is :

(1) 14 2 -3

@) -17 @) 11 ol

46. Whenx:éand y=:4—3-, then the value

18 !

of the expression 81x2 +16y2—72xy ' 3

42, a ¥ 3 il wifm wEl, Red g 4-a3rfa
&1 547a, 3 R §, FaAm R -

(1) 15 2 7
3) 10 @) 13
43. x* -256, x3 -4x2 +3x-12 s
X2 ~7x+12 1 @& 6@ PAEE R
(1) x-3 (2) x+4
(3) x-4 (4) x+3

44, 7@ 8x% —6x? +10x+3 F (4x+1) F wm
W q wrEe 2x2 + k R, W&l Kk awE R

(1) -3+2x (2) 3-2x

(3) 3+2x (4) -3-2x

45. (9x2 +15-x) M (~1-x+x?) F A
A, af x2, x2 dn x F z;uﬁgm.d. B

‘ M CE,A(A+B-C)F AR 2
(1) 14 @ -3
@7 -~ @wn

¢ A i _
_gs.aa--_-x=% W oy=3

" . 81x2 +16y% - T2xy F A} :

’ 9
(1) % (@ 25 (1) 1€ (2) 25
T 9
(3) 16 | :5(4'3;' 7 ! (3) 16 @) 2
f » ’ éP:CE FOR ROUGH WORK / W% Fd % fiq smr
-/ ; 13 [ PT..
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47. Abhi is twice as old as his daughter.
Five years ago, his age was four times
his daughter’s age. If the present age of
the daughter is x years, then :

(1) 2(x-5)=4(2x+5)
(2) 2(x-5)=4(2x-5)
(3) 4(x-5)=2x~-5

(4) 4(x+5)=2(2x~-5)

48, A sum of ¥6,250 at 8% per annum,
compounded annually, after 2% years

amounts to :
(1) 7,87260  (2) ¥7,16560
3) €7,581:40  (4) ¥7,72740

49, A person marks his goods 40% above
the cost price and allows 40% discount
on the marked price. His loss/gain
percent is :

(1) No loss/gain
(2) loss, 8%

(3) gain, 10%
(4) loss, 16%

50. The angles of a quadrilateral are in the
ratio 2:3:5:8. The sum of the
supplement of the largest angle and the
complement of the smallest angle is :
(1) 80° (2) 50°
(3) 60°

51. Two sides of a rright triangle mea:gt

15 cm and 17 cm. Which of the following, [+
statements can be true of the length of |

the third side of the triangle?
A. It is between 4 cm and 7 cm.
B. It is between 20 cm and 23 cm.
C. It is lessithan 10 em.
(1) A and C only
42 Bonly
~ (3) Aand Bonly

T

#

4) 70' il

(1) 2(x—-5]=4(2’“’5)
@ 2(x_5)=4(2X—5)
@) 4(x-5)=2x-5
@) 4(x+5)=2(2x~-5)
: Q, waf = s @t
“’%T?s,zso A w oW
e 2%3&!*@!&%:

(2) ®7,16560
{4) v 7,727-40

(1) ©7,872:60
(3) ¥7,581-40

(1) =+ whi/em T
(2) ®f, 8% -
(3) @M, 10% '
(4) ®f, 16% o &S
s0. fret i % A2 3548 & s
B e wad 73 B, B WGER AN wAR TR
W%gﬂ;mﬁqt, | ;
(1) 80’ @ soo
AT g W 70
51, Bl wERw fo A A e A AN

. 15 e¢m 3 17 cm ¥ % dr\d Eal
;ﬁﬂ;’mﬁﬂ HYA ﬂggzﬁa-m/mg‘m
U R w87

A. T84 cm 9 7 cm ® A=A R

B. 9820 cm €123 cm & 9= A 1

C. 98 10 cm @ B B

(1) Fm A C

(2) ¥4 B

() Fmm Al B

(4) Fs@ B R C

- —
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52. If one angle of a triangle is 110°, then | 52. 3R f&f f@ = v Fm _110° ?, @ @
the angle between the bisectors of the I A A F anfEaEE & 9" 3 qhvn
other two angles measures : o R
(1) 145° (2) 90° (1) 145° (2) 90°
(3) 100° (4) 110° @) 100° (@) 110°

53. In AABC, AB=4cm, AC=5cm and
BC=6cm. In APQR, PR=4cm, 53. AABC #, AB=4cm, AC=5cm afr

PQ=5Scm and RQ=6cm. AABC is BC=6cm #| APQR #, PR=4cm,
congruent to : PQ=5cm %M RQ=6cm % AABC
(1) ARPQ (2) APQR gatman ? -
(3) APRQ (4) AQRP (1) ARPQ % (2) APQR %

54. A tank is in the form of a cuboid. It (3) APRO% (4) AQRP %

holds a maximum of 540 m® water. If
the tank is 8 m long and 15m wide, | 54, s 2 =™ 5 FFK N ¥ @ Afwwaw

then how many metres deep must the 540 m 2 9F 30 wEA R 9 W Eh N dard
waterbewhenlhetankia%full? 8 m ag g 15 m ?, @ T gE R e
2
(1) 45 @ 2 et sfvee B, 5 e = WA gl A
(3) 25 (4) 3 (1) 45 (2) 2
'
55. The ratio of the areas of two equilateral (3) 25 @ 3 e ol

triangles is 16 : 9. If the perimeter of

the smaller triangle is 63 cm, then-how | 55, ét By A & 9‘%\
much larger is a side qftht:e larger Egm-nq‘h'mq 63 mi“, =3 v
triangle than a side of smaller
tanie? ﬂmﬁr, ﬁwﬁwﬂﬁmwﬁﬂ@
(1) 7 ecm - [1)7(:__ it =
(2) 3 cm ) -”15 -
(3) 4 cm # _'-‘.?"“; .
(4) 5 cm e

#- (4) 5 cm

. The area of a triangle is equal to the |

area of a circle whose  perimeter is | :56 il B = e @ ™ %

*
6m cm. If the base of the triang! gle is
8 cm, then its eqresponﬂing d‘xexg‘x Fua R, forw qfem 6 om R AR ﬁ‘ﬁ;‘“

(in cm) is : YR 8 cm #, T T@H T 41§ (cm /)
() 225 M (W | (1) 225 @
@ 2 4 225 @ 2 (@) 225n

- SPACE FOR ROUGH WORK / U6 & % fiq S7®
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6,4,8,14,9,4,8,4

3
57. The m r i 7. 2,123
ST ‘i:::aot mode, median and range | 5 i s ¥ ager®, WO A4 afrgr 5,
2,1,2,3,3,6,4,8, 14,9, 4, 8, 4 mA R .
is : (1) 9 (2)
(19 2) 4 4) 7
(3) 6 4) 7 3 6
58. Some students of your class are 58, AAE FAl q 39 WW“"”"'MH i i
repeatedly not able to do well in " afrs v whae 7 = T F
mathematics examinations and tests. ﬁ. e foraw & F9 A A
As a teacher you would : Iw 2 3 of 1 ) T
1 gxplain tl:le consequences of not (1) 3= A FF A o 3
oing we 3 afys 72
(2) give fnore tests for practice @ iﬁ:‘-’ﬂl i 2 399 F=9 323
(3) diagnose the causes and take steps (3) FTe N L.
for remediation (@) 7R 7= Iy arel & wid fae
(4) make them sit with high achievers
59. In an inclusive mathematics classroom, 59, 7fird * REekl a"ﬁ;;?;: 3%7'4;‘ ;:aﬁq? m i
what would be your strategy for £ AEEFAH F sk RIS L |\
addressing the needs of visually 1 Hifa enft? = N
challenged learners? . - -
(1) Design alternate teaching-learning (1) af1 NFT ] i
and assessment methods. s waf 41 A : ﬁ( ! .
(2) Send the learners to a special (2) Fonerfit =1 o foars & 9@
educator. . e _ T g
(3) Offer them another subject in lieu (3) o 3 = ai'ﬁ@m;'_'”%'
of mathematics. (4) o & 3= 3 WW F A F AT T
(4) Pair them with high .scorers in @ngr ;
mathematics. f s 4 & NS
60. Which of the following ~assessment | 0. ’m‘ ol i w2 Hhrgfa =1 v ¥
strategies can be used to assess & AR FR-H geEa Al w1
learners’ interest in and attitude to . B Ed R
mathematics? i ¥ .
(1) Oral test, Paper-pencil test, Class: (1) e e, Frm- v, w4 A
participation - 0, wEwThTa
(2) Checklist, .Ipog;rou‘i;; Paper-pencil (2) wfa g=h, WEwifer, Frm-ifae wha
test o R I . 5 <
(3) Chegklist, Portfolio, Project, Class () m wrEife, i, wa A
P oy M
(4) Portfolio, .Pffbject, Paper-pencil test (4) Ewifer, i, Fnr-The whe
n 5 SPACE FOR ROUGH WORK / T %1 ¥ fiu wmg
b - -
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61. Which of the following is not a purpose
of conducting practicals/experimental
activities in science?

(1) They help in scoring high grades or
marks.

(2) They enhance understanding of
science ideas.

(3) They provide an opportunity for
problem solving.

(4) They help in
manipulative skills,

developing

61. fam A =mwies /e Tttt
FQ 1 3 Pretafaa # A Fr-w T R

(1) A 3= 3% = Az yn § wEEE w
@) 3 fam ¥ Frerd H w werl)
(3) | AEEN-THYUN F IEEL U2 FH|

() %Sﬁﬁ‘lﬁlfgﬁ wrEt % fEm { e
|

]

62. Ughfam € wF wmae v W AW % 5w R

62. A few small wax pieces are fixed at THS AN WEE g0 T S Y ¥ 98 R
nearly equal distances on a flat strip of ﬁﬂ.?h’l w 22 F WA @ B omn R ek
aluminium. One end of the strip is =R it ) T frn s 21 AR R T FeE
clamped to a stand and the other end o e IELT
is heated. Consider the following A B ’ =
statements A and B : ¥ "

A & A wEd

A. Wax pieces begin to fall one-by-one TH-F-A13- @
in the order of their increasing iT »
distance from the flame. = il -gh
| . g 6 9 S R @ ¥ P
B. Aluminium strip transfers heat iR & ZE R B wETE A R
from the end nearest to the flame to e
the other end. : ; ﬁ‘ ﬂ'ﬂ ﬂ'ﬁ

Of the two statements given above :

(2) Ais observationand B is inference
=~ [ - . . o ;
(3) Bis observation and A is inference

(4) Both A and B are observations

a8 (1) A i B 2H1 A fred ¥
(1) Both A and B are inferences © |

(2) A Y&t it B frend
(3) B 5wt aix A fresd

(4) A 3 B2 & Jaw £

SPACE FOR ROUGH WORK / 1% % ¥ e e
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63. The students of Class VII are asked the
following question by a teacher :

“Two identical cubes of ice are taken
out of a refrigerator. One is crushed
and the other is left as it is. It is noticed
that the crushed ice melts faster. What
could be the reason?”

Which process skill
through this question?

(1) Experimentation

(2) Observation

(3) Hypothesizing

(4) Controlling variables

is promoted

64. A teacher of Class VII demonstrates the
following activity in the class :
“A leaf is put in a test tube and spirit is
poured over it. Then the test tube is
put in a beaker half-filled with water
and heated till the leaf is discoloured.
The leaf is then taken out and a few
drops of iodine are put on it. The leaf
turns blue-black in colour.”
After this activity, the teacher gives
some questions for the assessment of
various indicators of learning.
Which of the following would assess
‘analysis’?

(1) What care is taken to prevent
damage to the leaf ? .

(2) What care is taken v{:gg pouring.

spirit into the test tul

(3) What happens to the colour of the
leaf when solution is poured on it?

(4) Can this test be done without
remeﬁn’g*ghlmphyﬂ?

63.
m'{?ﬂt’
ga@@@hﬁmm%mmﬁ
wﬂwﬁmm%lﬂmwﬁ%
30 50 e 81 T ¥ T D
t?'7

o weft ) e # o S ¥ i e
s fRife e ST &1 TG A @
aeft @ s R e # @ 9 ¥ o sy
% i fn S ® S T T FAA 37
w1q| 3a% ae et W aree P s R sh
sireR 6 g 4 s w S w1 s
n fren-aren & T &1 -
@ e & @R fgs s & Rt
g % e O PO T a1 ¥

. feffea § @ R’ w1 s
m_a?
) R wf T gR, we Rr e wEer

Lok

.(z)mﬁf@mzaéa%mmm
T M7

(3) ¥@ Tt W O e M, A W W R
et

(4) ¥ NPT N =R g w@m B
ST Hehe 27

P-II/II*
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65. You want your Class VI students to | 65. ;Nﬁm@i g;:%%*mqg m §
figure out that the property of solubility Zll 4 i
of salt in water can be used to separate fermar & ™ g | wfewE-sga
a mixture of sand and salt. As a faneor 3 wAGH 2 ¥ T e
supporter of inquiry-oriented pedagogy,
you would (nﬁmﬁﬂaﬁaaf;ﬁmmﬁmmw
rovide the mixture of sand and i, I8 39T #$ fafag Al @
i galt to students, ask them to think g & fan o0 ol TR A faER
up different ways of scparation and ST 3 e Fw
help them in trying out their ideas
2 lain different methods of (2) weat F gug w0 H e faftr
@ ::garation of mixtures first and 2 e 3 @ T8 W s wE H
then explain the separation of sand Fyoror ) gUaF FE Ereeal
and salt mixture
(3) ask students to hypothesize about (3) TER Frenfiiat @ 3 fab@ faftrdt % =t &
different ways in which a mixture qfeTT w0 B HEN, foma W i s
of sand and salt can be separated D s o w1 wh @ Fa fagm
and then lead them to the W%mﬁqﬂmﬁém@
correct answer through detailed
explanations
(4)iaaﬁtm%ﬁmaﬁﬁﬁ,m
(4) take a mixture of sand and salt, P <N framdn 3 3% A= 3
demonstrate its separation and =4 % fora &
then ask students to repeat it on o
their own o =
- "

66. Which among the following statements.
describes the relationship between {
science and technology? i . Sl% 4 b

(1) o s =TE T 8, TaE AR

& g i am: wm-ffie 3 20

(1) Science is a broader endeavour
while technology is goal-oriented
and often locale-specific,

L}

(2) Technology is a more creative | > @ mg PR it

-

process as compared to science. . | i
(3) Science is an ancient @ . 'sé;! 3) fym & WA 3am R} qig e 39
but technology is mﬁv&% ) e &1 B -
(4) Science ar -,;négiélog;fw‘proceed )
independ rand in isolation from (4) fagm ot aEA T FY R SR TR
each other. .= -3 95
% ;' |+< -
n B SPACE FOR ROUGH WORK / T &M % g e
1 \ -
P- *
/1 19 [ P.T.O.
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67. Which among the following is not a
single flower but a group of flowers?

(1) Datura
(2) Rose
(3) China roge
(4) Sunflower
68. A bicycle is moving on a straight road

at a constant speed. The wheels of the
cycle exhibit :

(1) circular, translational and periodic
motion

(2) circular and translational motion

(3) translational and periodic motion

At @ FA-E T T TR, o
67‘3,,13,@;@3?

(1) @
(2) e
(3) = T ()
(4) wigeh
” %ﬁgwtam@%ﬁtﬁ:ﬁqﬁ“ o
(1) e, Tt stk s TR
(2) T shv wmTdta T
(3) wardE iR FEd w

(4) circular and periodic motion (4) T v Tﬁ e '

69. S farmer living at a | 69. 1 S 1 g fser & oM 3w a9 w4
p;;:go;:v{:: l:ira‘::kasoﬂ. If the _dginmte el Fefl 1 3R % dw A STy
ofyourregioniswarman_dm@ant 3w By M F9 G § W weE v T
to grow fibre-yielding plants in your - DI AR, @ e PrefiReg LRRET
fields, then which of the following Tt 37
would you preferp A .

(1) Rayon P v () Y
(2) Coconut L (2) Mfms
(3) Jute _ (3) “ (vem)
(4) Cottone ™+ L (4) Fmg
d M SPACE FOR ROUGH WORK / & FH F i g
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70. Choose the odd one out. 70. fam = g

(1) Embryo (1)
(2) Egg (2) =
(3) Ovum (3) ey
(4) Gamete (4) g=H
71. The function of saliva is to : 71, e @ (FR) w1 FE

(1) w2 (=) F v afafda wen

(1) convert starch into sugars

(2) prevent the food from entering the (2) vaTaAeh 3 @ w3 W @ A
windpipe
RS # ufafia s
(3) convert carbohydrates into proteins ) W 2
ﬁf I L
(4) convert starch into fats (4) == (Ep ¥ ?_W ‘[-b:i 3 »-.
-

il -

%

' 72, frefafen 3 § FR-mFA WA
72. Which of the following statemenfs is | 2 il _:—E?‘!'

correct? I & ‘ F

(1) Both inhaled air and exhaled air
contain oxygen.
. : -?2)ﬁwzﬁ(mﬁ1§ﬁiﬂi)maﬂ
(2) (I:t;:“l?iflddit?;:dedoes noi co:?"'vn ._| ‘1 st 4 2l
| (3) SwgEwa # (vam P =) ag #
(3) Exhaled air does m qbnthh e g

oxygen.
TE‘_.._-.F _-..
(4) Exhaled air aoe_c not contain (4) e A (vm FEen Tel) ag A
carl;en dxoxxde'a- > e SIS e Bl |
a
i .'_J- SPACE FOR ROUGH WORK / T %M % faq e
a.. Il h gt
- i
(I/1I* 21 [ P.T.0.
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73. Ritu is standing in front of a planc == Ei%ﬁ"‘i‘ #a 38 ;h‘l zw wfaf= ¥ @
mirror. The distance between Ritu and A 2m @
her image is 10 m. If she moves 2 m # 50w :
towards the mirror, then the distance

between Ritu and her image is :

(1) 8m (1) 8m
(2) 10m (2) 10m
3) 12m (3 12m
(4) 6m (4) 6m

74. You have three test tubes X, Yl and Z %
half-filled with different solutions, mmqmﬁ?ﬂ '
as X is filled with sodium chloride | 74 sﬁ"ﬁ'il; et & amf-anh s & % X3

solution, Y is filled with sodium R, Y |
hydroxide solution and Z is filled with aifeam m; 3 m TR I
dilute hydrochloric ac;?. On atlidipg or;e forea @ 3 Ao B @
drop of phenolphthalein solution to dEGEE! T 3
each of the above solutions, you would 4z R W 3 TE Pl ﬁﬁ;'ﬁ;
observe the solutions in the test tubes W fyera 7@ TR :
as : .l
(1) X is colourless; Y is pink and Z is (1) X—OTeH; Y- - j k

colourless . s

p e GICIH y—[erEl we 2= A

(2) X is pink; Y is pink and Z is (@ X L

colourless @ S—sBvm !dg v —wﬂam Z—ara
(3) X is pale green; Y is colourless and §

ki >/ (4), Xy Y—SReT T AN 2T
(4) X is colourless; Y is pale green and | -

Z is pink - -

78, R e e e AW
'@Riﬂ%:

75. In our mouth, the arrangement of
different types of teeth from front to

back is : . | @) s
(1) canine-incisor-molar-premolar i §

(2) incisor-canine-premolar-molar

(3) -canige-iincis‘iin-premola:—mo]ar (3) TR
(4)' :fﬁhcisgi-ca-nine-molar-premolar (4) FOF— AT ST
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d trees, water goes Up

¥ gxlglf 18;\1;: ?; suction pull. Which of

the following phenomena causes this

suction pull?

(1) Photosynthesis

(2) Transpiration

(3) Respiration

(4) Absorption

. Which of the following

reproducmg part of ginger?

(1) Leaf

(2) Root

(3) Stem

(4) Seed

78. Which among the following liquids are
conductors of electricity?
A. Vinegar
B. Sugar solution
C. Salt solution
D. Distilled water
(1) Band C
(2) A, C and D
(3) Aand C ;
(4) C and D

79. Consider the following étatements 3

A. Plants can survive for some time
even without photosynthe!is
Plants can survive for some time
even without respiration.
Photosynthesis and respiration
both are essential for the survival
of plants. ==
Photosynthesis and resgu;aﬁo,n l

is the

B.

C.

76. wedt wd g A U

T -
vt 3 @ R

% 2l
(R=ma) % <7 g il

Qg 3 T TR TAOT-F0
(1) TE-HTea
(2)
(3) w=&
(4) =T
7. Frefafaa # A PA-91 3T F I 8T
(1) st
(2) >
(3) @
(4) =
78. Preffad 7a1 § A F-2 foega % e €

A, T
B. W&y = faemd
C. wEu F e

D. 3mgd s

(1) B3R C N

(2) A, C3D o4 '

(3) AsinC
(4) c3RD

79. '-ﬂ%ﬁqmzwsﬁm
A, DY TH-HEeTeo
e @ FFAEL
lgn‘:mixm%_’ﬁnﬂﬂ@mwsﬂﬁam

" c. e F i 1@ % Ry wmm-dwee si

i T 2HT 8 e B
D. A % vm wrw-gvemy 3K A il |
B Al el (W ¥ w9E B9 ared)

" ﬁm;ﬂhwmm

D. |
both are simultaneo ces "y wisramd
plants during daytm‘ﬁhpm. scsi&- &
The correct statements are : it o E
() A B andD- (1) A, B#RD
() A, B and G (2 A, BslRC
(3) B, CandD (3) B, C D
.. (4)Ay,C and D! o (4) A, CeD
—_—
' - SPACE FOR ROUGH WORK / % %M % i wme
1-: L
o *
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80. A block of wood is lying at rest on & FRI ™
table. What can be said about the g 1w &
force(s) acting on it? p. oo @ W W HH =
(1) Gravitational and frictional forces (1) gfl
are acting on it. = R
. ) o) W 2 we w1 T
(2) There is no force acting on it. - i -
(3) There is a pair of balanced forces (3) M ;lt wgferd
acting on it. @
) ) o e ﬂsam:ﬂfw @ B FE o
(4) Only gravitational force is acting 4 @
on it. w 2l
; -famama wen
81. Which type of leaf pattern, ie., leaf | oo o0 5 # ot # BT w5 g
venation and root type are present in — *ﬂ%%?
bamboo?
) e fira-Rra S 5 b
(1) Reticulate venation and tap root ( . _
2 R - 3it R (mm ;.

(2) Paralle]l venation and fibrous root

(@) o - AR S
(4) et fr-Rer St R (g)
- . |

(3) Parallel venation and tap root

(4) Reticulate venation and fibrous
root

82. Which of the following facts is not | g2, gl % Fg A A far T Fw-1 v wh
correct about magnets? < mﬁt? -

(1) Magnetic field lines originate | (1) g=FE 4 Yard F IW @R
i (hmm%mqﬂ;ﬁgawﬁé:ﬁ

from north pole and merge at south

pole of a magnet. — F e ¥
2) Attraction is a sufeh test of
@ . _-f‘ ' t“t & (2) SR g o PR whem 3
(3) Like poles jof magnet repel each (3) T F T g5 -G T whefa
other. : 1

4 M; E .:'ﬁe-fd"’ 4
-( ) poﬂ} - r;sa;t;gnger at the 4 ?a %I% &l w =Y 8 ahm
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83. Match the following metals and

‘ non-metals with their uses :
| (a) Iodine (i) Water purification
| (b)
|

() Aluminium (jii) Thermometers

Mercury (i) On wounds

(d) Chlorine (iv) Food packaging

(1) a b d
iv ii iii i

e}

2 a b c d
i ii i v

3 a b [

o
[¢]
=}

@4 a
oo v

84. Select the true statement f
following. ]

(1) Melamine is a
whereas bakelite is a the
plastic. N

(2) Bakelite and melamine are both
thermoplastics. !

(3) Bakelite and melamine

thermosetting plastics.,
(4) Bakelite i 0 h 1ere-
as m thermosetting

plastic.

83, 13 @ ¢ g oM urgsdt W fraw I
37t | AR :

(a) EER (i) Se-vieA A
(b) TR (i) =& W
(c) Uahfmm (i) anfe A
(d) =E (iv) wra-yeml f
Tewmad () A
(1) a c d
iv ii iii i

2 a b c d

3 a b c d

4 a b c d

(3) ¥romzz A Yo A @ awwien
e E

(4) ¥ wifRE R ovERs  dam
yrtafen wnfes 2|
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Directions : Question Nos. 85 to 87 are
based on the following passage.

A teacher of Class VIII demonstrates the
following activity in her class :

“The teacher takes a small amount of
sulphur in a spoon and burns it. She then
puts the spoon into a tumbler with a lid to
ensure that the gas produced does not
escape. After a few minutes, she adds water
to the tumbler.”

85. What happens if blue and red litmus
papers are put into the tumbler?

(1) No change in both.
(2) Blue litmus turns red.
(3) Blue litmus remains blue.
(4) Red litmus turns blue.
86. In the above demonstrated activity,

which substance is formed when
sulphur dioxide is dissolved in water?

(1) Sulphur hydroxide
(2) Sulphuric acid
(3) Sulphuric oxide

(4) Sulphurous acid | «

87. Which process skills can be promoted
through the above activity?

(1) Observation and controlhng

vida‘bleq
(2) Observation, nﬁ‘preqﬁea
sul'em ent

3 omum ciﬂsslﬁzaﬁon and

R

it e s 859 87 7 A BT
anenfa €1 ﬁmmmﬁﬁﬁ‘lm{

frgqraemd

ﬁzﬁhﬁ‘"
mﬁ@amaﬂw'mmm@m'

e rd frera o e @ sl
vﬁimﬂmajﬁaﬁnﬁaﬁmﬁmﬂml

S

mm%ﬁwmaﬁammﬂﬂm
‘azréﬁﬂa%?
(1)ﬁﬁaﬁ'§mﬁm'
(Q:ﬂ'ﬂTWﬁmﬁm%l

@ fren forzra T Aen @ T R
(4)mmwm-ﬁmil

ge- :ﬁmaﬁ;mﬁ?%@wmmﬁ
(1)m‘m’§mﬁg-ﬂ * -.“
(2)8?@*%" ..‘ o
(s)mfﬁﬁm

o mm-ﬁ

wy

"y forarrem T R when Foeme St
Wsﬁ%ﬁaﬁmmm%?

(1) e s =it w FreEw
(2) Haor, Frewd Fraremn ok oo
(3) &g, wiifemor s frewd Hrarem

inference
(4) Ogsﬁahpn ﬁhd measurement (4) o 3R A
%‘ _"*, : SPACE FOR ROUGH WORK / T% %M ¥ Tt sie
S
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88. A science teacher asks her students to
put two drops each of oil and sugar
solution on a fat surface. She then
asks them to tilt the surface and
observe the order in which the drops
reach the bottom. Which property of
the liquids is the teacher trying to bring
to the students’ attention through this
activity?

(1) Point

(2) Viscosity
(3) Solubility
(4) Volume

89. You find that many of your Class VI
students believe that raw material for
plant growth comes only from the soil.
Which among the following would be
the most appropriate strategy to
counter this idea?

(1) Show the students a well-prepared
PowerPoint presentation on photo-
synthesis.

(2) Explain in detail the process of
photosynthesis and the chemical
reactions involved.

(3) Provide the students with a money
plant in water and ask them to
observe its growth and make an
inference.

(4) Provide the students with an
interesting reading material on the
process of food manufacture in
plants. =

90. The criterion of process validity of
science curriculum requires that :
(1) science should be taught as a

specialized discipline with its .

unique characteristics
(2) science should be presented as a

value-free discipline uninfluenced |

by societal concerns = -
(3) learners should  be familiarized
with various natural processes
(4) learners should’ be engaged in
processes that lead to generation of
scientific knowledge

arfirs 37gw A7

(1) PPl = wFw-gRE F W F @
giififa gravatie g R

(2) vEm-wTe ) B AU TR THEES

(3)ﬁmfﬁ=ﬂaﬁm=hiammﬁwﬁz%mma-
e 3w dam W Ped P ®
fer | L &

(4) et # virew-Prin 4 wfEm H R #
e N wem ge WEER 9w
HOAT

90. figm reTmn Y ke Ao F TR A

mamefe: O

@)ﬁ!ﬁ%@tﬁﬁﬂﬁﬁwtwﬁm

- e e e fafineard §

(2) fmm = A T aE TEd A

mmgﬁgiwﬁmm
Sl

(@) frafid = faftm weke s R
guftfa = s =R

(4) Toenfidt = Y wfrnstt & =w @ S=

wfee < e W @ @ R R
7 A9 &
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